SPSSAU #3E#E5 54 F &
ok RBAEE

A%

O T 16T I
2. SPEAIMIAN Ff tutiiiieitieieeiiesieete et este s et ebe e steesbeaseesseesbeeseesseesaeantesreenseaneeas
T =T 010 = | R
BRI IR oottt ettt ettt ettt ettt

il

MEXABMRTAAEETZAM XX RETIN, &£ SPSSAU + & #:
vV REAAFA AT AT

Vi O ZBFERLS XY,

v 324t Pearson (Z4Ah) . Spearman Fe Kendall =448 % & #.

FHESHT Pearsonf8x=EE] v

W RO AERAHR S XFY, TR XFY FRBAANSRIEF, RIICHH
SHRBN DM RY AEF BT



SPSSAU #3E#L5 54 -F &

SPSSAU #(3E4 X,

Titlel Title2 Title3
2870334 516743 3.555898
6.360674 8517929 8.62671
0.007093 5.183305 4.023125
5.587655 1.797669 9.950338
9.820287 8.482111 8.612621
6.424085 1.681026 3.197264
5934659 7.22094 4.261088
0431016 1.250926 3.265462
9.494304 7.255518 5.732024
9.823583 2.262717 5.380164
0.392169 9.28603 3.265742
0.086585 2.759854 2.597386
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v A xF (Concordant Pairs)
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